Spare part list

DUSS

DIA 400 W diamond core drill

Description Order-No. Quantity Description Order-No. Quantity
Motor housing DIA400W-1 1 Gear 3 DIA400W-99 1
Gear cover DIA400W-2 1 Sliding gear wheel DIA400W-100 1
Bearing seat DIA400W-3 1 Spindle gear DIA400W-101 1
Cover connection box DIA400W-4 1 Support washer DIA400W-103 1
Armature, 230V DIA400W-5 1 Break disk A DIA400W-104 2
Field, 230V DIA400W-6 1 Disc DIA400W-105 3
Card DIA400W-7 1 Protective cover DIA400W-106 2
Frigistor DIA400W-8 1 Break disk B DIA400W-107 2
Switch seal DIA400W-11 1 Ring DIA400W-109 1
Field pin insulating hull DIA400W-12 2 Nipple DIA400W-110 1
Brush holder DIA400W-13 1 Conveying screw DIA400W-112 1
Air line disc DIA400W-14 1 Roller bearing DIA400W-115 1
Connection box sealing DIA400W-15 1 Ball bearing DIA400W-120 1
Connection box DIA400W-16 1 Ball bearing DIA400W-121 1
Carbon brush DIA400W-17 2 Roller bearing DIA400W-122 1
Carrier handle DIA400W-19 1 Needle bush DIA400W-123 2
Ball bearing DIA400W-20 1 Needle bush DIA400W-124 1
Ball bearing DIA400W-21 1 Axial ball bearing DIA400W-125 1
Ball bearing balancing disc DIA400W-22 1 Needle thrust bearing DIA400W-126 1
O-ring seal 32x3 DIA400W-23 1 Washer DIA400W-127 1
Sealing ring DIA400W-25 1 O-ring seal 102x3 DIA400W-128 1
Cheese head screw M6x35 DIA400W-26 4 O-ring seal 20x3 DIA400W-129 1
Cheese head screw M5x120 DIA400W-27 2 O-ring seal 11x2,5 DIA400W-130 1
Lens head screw M4x40 DIA400W-28 4 Sealing ring DIA400W-131 1
Lens head screw M4x6 DIA400W-29 2 Sealing ring DIA400W-132 1
Countersunk head screw 4x6 DIA400W-30 2 Sealing ring DIA400W-133 1
Flat headed screw 4x6 DIA400W-31 1 Hose DIA400W-134 1
Lens head screw 3,9x9,5 DIA400W-32 1 Ball valve and lever DIA400W-135 1
Hexagon nut M5 DIA400W-33 2 Nipple DIA400W-136 1
Grooved pin DIA400W-34 4 Sealing ring DIA400W-137 3
Lens head screw M4x6 DIA400W-35 1 Disk spring DIA400W-140 3
Lock washer M6 DIA400W-36 7 Spring DIA400W-141 1
Spring washer DIA400W-37 2 Ball dia. 5mm DIA400W-142 1
Spring washer DIA400W-38 1 Ball dia. 4mm DIA400W-143 2
Washer M4 DIA400W-39 3 Feather key 6x45 DIA400W-144 1
Headless screw DIA400W-40 1 Feather key 4x10 DIA400W-146 1
Capacitor DIA400W-48 1 Index bolt 6x10 DIA400W-147 1
Cord screwing DIA400W-54 1 Index bolt 5x15 DIA400W-148 1
Switch DIA400W-56 1 Index bolt 3x16 DIA400W-149 1
Cord, plug and PRCD DIA400W-75 1 Washer DIA400W-150 1
DIA400W nameplate DIA400W-85 1 Retaining ring DIA400W-151 1
Gear housing DIA400W-90 1 Circlip DIA400W-152 1
Water connection DIA400W-91 1 Hexagon nut M22x1,5 DIA400W-160 1
Gear handle DIA400W-92 1 Cheese head screw M6x50 DIA400W-161 3
Gearshift DIA400W-93 1 Cheese head screw M5x12 DIA400W-162 1
Tool bit driver DIA400W-94 1 Cheese head screw M5x45 DIA400W-163 3
Shaft DIA400W-95 1 Lock washer M5 DIA400W-165 1
Shaft DIA400W-96 1 Quick release ring DIA400W-175 1
Layshaft gear DIA400W-97 1 O-ring seal 32x1,5 DIA400W-176 1
Gear 1 DIA400W-98 1

11 08 /2018



DUSS

DIA 400 W

07/2018



